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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry












S| —-3|(Rate Change) MATHS WITH SACHIN BALIYAN SIR

If annum-rate of interest is 0
froer annum to‘per
ann - @ ann come

" > ,

rén flnd his
invested mone sqTsl I

mﬁwa'{meg/qﬁa&#azm
gfa a¥ 12.5% &T & St g, ar
U <Ifed &r aifds 3T & 1600

(a) 64000 (b) 6400 (c) 16000
(d) 1600 (e) None of these






s -3 (Rate Change) | MATHS WITH SACHIN BALIYAN SIR
800 invested in a scheme for _3 oC
years and received 920. What @ o
would be the if 5% R = +3]. B A
the rate of interest would be -
(;% morep Rs. 800 3 W & 40 Slz+akrP

A 7 A &

IR 920 wrea fw | IfR q{ 8°°
s &¥ 3% s gef ar w505 )
a5 U F4r et ) *+

(a) 950 (b) 962  (c) 952
(d) 992 -/ (e) None of these



S| -3 (Rate Change) MATHS WITH SACHIN BALIYAN SIR
( 2 ©0

1200 invested at a certai

interest become @

fte @ s|260° N
what would be the new amount |f -—7— |
the rate of interest would w 8 0D \l°°
an before. 1200 w ’ _\

39T T 94T 5 €T &

mwoos’rm%laﬁm ﬂ
Rmﬁm#Z%m \.yo

W -
2Yf @Y 71§ TR 4T @ ol 12
(a)1220 (b) 1780 (c) 1680 i

(d) 1580 (e) None of these
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S| -3 (Rate Change)

6000 becomes 7200 after @{ears.
What would be the new amount
after(5 years if the rate of interest
will be{1.5 timés)the previous rate?
¥ ¥ 9 6000 ¥, 4
AT |1 7200 g SATAT &1 5 Nt
& dg a5 U Far geht I
ST T T Mo & & Y

T
8250 (b) 8600

(c) 8900 (d) 8000
(e) None of these







S1-3 (Rate Change) [ MATHS WITH SAGHIN-BATIVAN SIR

Rs 12000 will amount to Rs 16000 at certain ‘m

rate of Simple interest in 5 years . If rate of R \ o

interest will decrease by 3% per annum then - LQOOO
findrew~amount Also find amount at the end ‘S\/
ot lower rate of interest ? 5 @8 &
12000393 &1 UM HYUROT A 6
faffaa & 9T 16000 s9F grit Iy sa=
$T 2T 3% i a¥ F F#7 & Sef, ar a8

T AT AT | YT T T FH ST T
8 a¥ & g # UM ff ;g A/™T? =

(a) 14200, 15520 (b) 14200 ,17800 »
(c) 14200, 16800 (d) 14200 15800/

(e) None gf.these qu'%"'GQ
sy, ™12
7 4






S| -3 (Rate Change) MATHS WITH SACHI

A sum of 81000 is divided in two part in such
a way that Sl on first part at 12% per annum

in 5 years will be (equal)to SI on the other
part at 6% Per annum in 8 years . Find the

——

sum of money in each part? 81000 T Trfer
H A AT A 39 a® ¥ [wfea &
ST & & g8 HOT 9T 5 ¥ # 12%
g ad F X A S, g AT W 8aw A
6% Wi a¥ & T & SI & aET e |
UAs HT A 49 Ad HifAw?

(a) 45000, 36000 (b) 48000 , 33000

(c) 39000, 42000 (d) 24000, 57000
(e) None of thesy




2ALIYAN SIR

S| -3 (Rate Change) MATHS WITH SACHU
A sum of Rs 11200 is divided in three parts in such a @/

way that Simple Interest on first part at 3% per
annum for 5 years is equal to Simple Interest on the

second part at 5% per annum for 6 years and it is

e ———————————————
also equal to Simple Interest on the thi
per annum for 3 years . Find the
received on e part ? 11200 3=

?ﬁﬂmﬁ#wm#ﬁwﬁaﬁmm%
fF ggor BREX 9T 5 91 & AT 3% 9fa a¥ & 5=
e & WUROT &4, mmwema;
T 5% ufd a¥ &fr T § FTYURIT AT, m
%Wwam*ﬁwa%uf?faﬁ%%m ~—
¥ WYURUT &A1 & @& § a9 TcdAF HT
9Icd HTYRUT T ATd HAA?

(a)1200 (b) * 800 (c) * 900

(d) 720 (e) None of these







S| -3 (Rate Change) MATHS WITH SACHIN BALIYAN SIR

45000 invested in three schemes at 5% per
annum, 6% per annum & 8% per annum for 6
years, 2.5 years & 5 years respectively. At the
end of each scheme equal simple interest
received. Find the money invested in scheme

B? 45000 & e Aot A 5% wfaaw,

6% vfaay¥ 3 8% wfad a¥ FAw: 6 v,

25 a¥ 3 5 a¥ &F v @A3wr f&Fam

UAS AT & Hd H AT HYUROT g1 H'VJ
fAear 81 &H B # Ay Far = a1 /
S V4

(a) 12000 (b) " 8000 (c) " 9000

(d) " 24000 (e) None of these



S| -3 (Rate Change) MATHS WITH SACHIN BALIYAN SIR

A man deposited a sum of 34480 in the bank
account of his three sons in such a way they will
get equa @c t the age of 25 year . If present

ns are 19 years , 21 years and 23 years
. while bank is giving 5% per annum simple
interest . then find money deposited in account of

each son ? T&H IEHAT & 39a AT aef & a8+
Gra A 34480 #

37¢ 25 W #
mmhluﬁmqsgaﬁaﬂmamgwai,

:
%
»

ik
3

21 af 3k 23 af

HYRYT &A1 & @7 81 Y 9% 93 & @
A STAT 40 AT L2

(a) 10560, 11440, 12480 (b) 12530,11440, 12480
© 12640, 12530,11440 (d) 12790, 12530,11440
(e) None of these




S| -3 (Rate Change)

MATHS WITH SACHIN BALIYAN SIR

7930 invested in three schemes for 2
years, 3 years & 4 years respectively at
5% annum. If at the end of each scheme
he may received equal amount. Find the
money invested in scheme A? 5% dTf¥&
# T F HAA: 2 aY, 3 a¥ iR 4
a¥ & fav e a3t & 7930

(a) 2760 (b) * 2530
(c) " 2640 (d) " 2790
(e) None of these







